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A Proposal to Transform the Standard Deduction into a Refundable Tax Credit

Al Sheahen and Karl Widerquist
This proposal discusses how to begin the phase-in of a basic income guarantee in the United States by transforming the standard income tax deduction into a refundable tax credit. This small reform would establish the principle of a universal payment, a necessary step toward a full-sized basic income guarantee.
BIG Strategy

There is too much poverty in America. No country with our resources should have any poverty at all. Poverty puts people in a desperate situation in which they can be taken advantage of by others and which affects their mental and physical health for the rest of their lives. The most effective way to eliminate poverty is with a sweeping reform of the nation’s tax and benefit system to create a basic income guarantee (or BIG): a universal income for every man, woman, and child that would be enough to meet their basic needs in a crisis. The census bureau puts the poverty line at a little more than $18,000 for a family of four, but official poverty figures (which are based mostly on the cost of food) have become increasingly inaccurate (as rent, transportation, and medical care have increased much more quickly than food). Researchers who have estimated poverty based on a full assessment of family need have estimated the poverty line at about $28,000 for a family of four, which would require a basic income guarantee of $7,000 per person per year.

Charles M.A. Clark has estimated that a full BIG (along with all current government spending) could be financed by a flat income tax of less than 40 percent. A law to create a full basic income guarantee right now would eliminate poverty in one stroke and would be the best thing for American society. If this transformation is not immediately politically feasible, we can begin moving in that direction by transforming the standard income tax deduction into a refundable tax credit. This small proposal would give poor Americans money that they badly need and set a precedent (of a universal payment) that can be extended in the future.
The Standard Tax Credit

For 20 years, refundable tax credits (such as the Earned Income Tax Credit and the refundable Child Tax Credit
) have proven to be simple, effective ways to help the poor. The success these policies have had in helping the poor without extending bureaucracy has made them extremely popular with Congress and American taxpayers. The logical next step is to transform the standard deduction and personal exemptions into a refundable standard tax credit (STC) of $2,000 for each adult and $1000 for each child. The STC will provide all the poor with a small but badly needed tax credit, and give a tax cut to virtually everyone who chooses not to itemize their deductions.


The plan is simple. It removes the line for the standard deduction (and personal exemptions) from the federal income tax forms 1040, 1040A, and 1040EZ, and replaces it with a line for the standard tax credit at the bottom of the form. All tax rates remain the same. The STC does not remove the line for itemized deductions from the 1040 form, and people who itemize deductions will be allowed to take a $3050 deduction to replace each of their $3050 individual exemptions. Therefore, those who choose to itemize deductions will be mostly unaffected by this proposal. The only change is that anyone who chooses not to itemize deductions receives the STC instead of the standard deduction.

The proposal amounts to a small change in the formula for calculating taxes. The current formula begins by subtracting the standard deduction and exemptions from “adjusted gross income” (AGI) to determine “taxable income,” which is counted as zero if AGI is smaller than the deductions and exemptions. The next step is to multiply the taxable income by the tax rate to determine the level of tax.


Under this new proposal, the formula begins by multiplying adjusted gross income by the tax rate to determine “gross tax.” It then subtracts the standard tax credit to determine the “net tax” or “net refund.” The following shows the change in the tax formula:
The current system:

  Adjusted Gross Income

- Deduction and exemptions
= Taxable income

x Tax rate
= Tax
The change:
  Adjusted Gross Income

- Deduction and exemptions---(out)-->|
= Taxable income                     |
x Tax rate                           |
= “Gross” tax                        |
- STC<-----------------------(in)----|
= “Net” tax or refund
The new system:
  Adjusted Gross Income = taxable income

x Tax rate
= “Gross” tax

- STC
= “Net” tax or refund


The current standard deduction is $4,750 for a single person and $9,500 for a married couple. The personal exemption is $3,050 for each additional member of the family including adults and children. Suppose we wanted to create a standard tax credit that was exactly the same size as the current standard deductions and exemptions, how large would that STC have to be? Because deduction and exemptions are subtracted before income is multiplied by the tax rate and a tax credit is subtracted after income is multiplied by the tax rate, to be equivalent in actual effects a tax credit has to differ from a deduction by the tax rate.


If the tax rate is 10 percent, a tax credit has to be one-tenth the size of a deduction to have the same effects on a person’s taxes. The current tax rate on the first $7,000 of adjusted gross income is 10 percent. Because the combined Standard deduction for an individual ($4750) and personal exemptions ($3050) is $7800, an STC of $780—and $305 for each dependent child—would be roughly equivalent to the current standard deduction and exemptions for a family with an income of about $7,000.
 

However, a tax deduction changes the relationship between adjusted gross income and taxable income at all levels of income, while a tax credit does not. Therefore, replacing a deduction with a tax credit will push people at higher levels of income into higher tax brackets. The STC will need to be slightly higher to counter-act the effect of pushing people into higher tax brackets; doing so will also create a tax cut for people with lower incomes. An STC of $2000 for each adult and $1000 for each child will create a tax cut for everyone with an income under about $50,000 per year. Because most (85% of) people with incomes greater than $50,000 chose to itemize their deductions, most of them will be unaffected by this proposal. 

Prospects for funding the STC include reversing George W. Bush’s tax cut for the rich, which could raise $244 billion per year. In the future, a larger STC could be financed by eliminating itemized deductions and other tax credits or from many other sources of revenue.

The following three tables illustrate how the STC affects a single person, a family of four, and a single parent with one child. The levels of income chosen show the breaks between tax brackets, which gradually increase the tax rate on income from 10% on the first $7,000 of income to 35% on income over $311,950 per year. Taxpayers within each bracket will be affected similarly to the taxpayers at the edges of each bracket. The first four rows show the taxes each family pays under the current system. Rows 5 to 7 show how the same family’s tax or refund would be calculated under this proposal, and row 8 shows the change in taxes for the family, which is a decrease in most cases.


To see how the tables work, look at column C in Table 1, a single person with $14,000 of adjusted gross income (AGI). Under the current system, this person is eligible for a standard deduction ($4,750) with one exemption ($3050), totaling $7,800, leaving her with a taxable income of $6,200 and a total tax bill of $620. Under the new proposal, this person’s “gross” tax would be $1,750. However, he or she
 would also receive the standard tax credit of $2000, transforming her net tax bill into a refund of $250, and giving her a tax cut of $870, compared to the current system. An additional $870 is very significant to a person who makes $14,000 per year.

Column D in Table 2 shows the effect of this bill on a family of four with an income of $21,700 per year. This family currently pays no federal income tax. Under this proposal they would receive an income supplement of $3,445 per year. That’s an increase in this family’s disposable income of more than 15 percent, and it would make a big difference to their ability to provide for their children’s needs.

A look through the tables shows that this proposal will give a substantial tax cut to everyone who is likely to choose the standard deduction. The smaller the taxpayer’s income, the larger the tax cut she receives. It can be as much as $6,000 for a family of four with an income near zero. Thus, it gives the most money to those who need it most. But, it helps everyone who receives it, and because it ensures that income rises faster than taxes, it always gives the family incentive to earn more. See the appendix for examples how the Standard Tax Credit will affect the tax returns of a family of four.
	Table 1: Single person

	Column
	A
	B
	C
	D
	E
	F
	G

	1 AGI
	0
	7,800
	14,000
	21,800
	28,400
	36,200
	68,800

	Current system
	
	
	
	
	
	
	

	2 Deduction/exemption
	7,800
	7,800
	7,800
	7,800
	7,800
	7,800
	7,800

	3 Taxable income
	0
	0
	6,200
	14,000
	20,600
	28,400
	61,000

	4 Current tax
	0
	0
	620
	1,750
	2,740
	3,911
	12,060

	Proposed new system
	
	
	
	
	
	
	

	5 “Gross” tax
	0
	820
	1,750
	2,920
	3,911
	5,860
	14,010

	6 STC
	2,000
	2,000
	2,000
	2,000
	2,000
	2,000
	2,000

	7 “Net” Tax / -refund
	-2,000
	-1,180
	-250
	920
	1,911
	3,860
	12,010

	8 Increase / -decrease
	-2,000
	-1,180
	-870
	-830
	-829
	-51
	-50


	Table 2: Married couple with two dependent children

	Column
	A
	B
	C
	D
	E
	F
	G

	1 AGI
	0
	7,800
	14,000
	21,700
	35,100
	56,800
	78,500

	Current system
	
	
	
	
	
	
	

	2 Deduction/exemption
	21,700
	21,700
	21,700
	21,700
	21,700
	21,700
	21,700

	3 Taxable income
	0
	0
	0
	0
	13,400
	35,100
	56,800

	4 Current tax
	0
	0
	0
	0
	1,340
	4,565
	7,821

	Proposed new system
	
	
	
	
	
	
	

	5 “Gross” tax
	0
	780
	1,400
	2,555
	4,565
	7,821
	13,245

	6 STC
	6,000
	6,000
	6,000
	6,000
	6,000
	6,000
	6,000

	7 “Net” Tax / -refund
	-6,000
	-5,220
	-4,600
	-3,445
	-1435
	1,821
	7,245

	8 Increase / -decrease
	-6,000
	-5,220
	-4,600
	-3,445
	-2,775
	-2,744
	-576


	Table 3: Single parent with one dependent child, “head of household”

	Column
	A
	B
	C
	D
	E
	F
	G

	1 AGI
	0
	7,800
	13,100
	26,200
	38,050
	51,150
	98,250

	Current system
	
	
	
	
	
	
	

	2 Deduction/exemption
	13,100
	13,100
	13,100
	13,100
	13,100
	13,100
	13,100

	3 Taxable income
	0
	0
	0
	13,100
	24,950
	38,050
	85,150

	4 Current tax
	0
	0
	0
	1,465
	3,242
	5,207
	16,982

	Proposed new system
	
	
	
	
	
	
	

	5 “Gross” tax
	0
	780
	1,465
	3,430
	5,207
	8,482
	20,257

	6 STC
	3,000
	3,000
	3,000
	3,000
	3,000
	3,000
	3,000

	7 “Net” Tax / -refund
	-3,000
	-2,220
	-1,535
	430
	2,207
	5,482
	17,257

	8 Increase / -decrease
	-3,000
	-2,220
	-1,535
	-1,035
	-1,035
	275
	275


The STC as Part of a BIG Strategy

Although transforming the standard deduction into a refundable tax credit will not eliminate poverty, it will be an enormous benefit to the poor who were completely overlooked by the Bush round of tax cuts. The poor pay sales taxes, property taxes, and many other taxes, but because they do not pay income taxes they did not share in Bush’s tax cut for the rich. Transforming the standard deduction into a standard tax credit will give a tax cut to everyone and it will give the biggest tax cut to those who need it most.

But one of the most important advantages of this proposal is that it is a step in the phase-in of a full basic income guarantee and thus a step toward the elimination of poverty in the United States. There are five reasons why this is the step that should be taken next. 


First, transforming the standard deduction into a refundable standard tax credit is a small, simple change in the law. It creates a basic income guarantee (BIG) for people with low incomes and leaves the tax code otherwise unaffected. People who itemize deductions are completely unaffected; almost everyone who uses the standard deduction gets a tax cut, and therefore, it is a tax cut for the poor.


Second, The STC sets the precedent of a universal payment with no means test and no work requirement. The STC will be available to everyone, rich or poor, similar to Social Security, which enjoys wide support. Many of the rich will choose not to take it because they can get even more money off their taxes by itemizing, but everyone is eligible to take it if they want it.


Third, although the STC is a small basic income, it’s financed as easily as a negative income tax, and therefore, it is the cheapest way to create a basic income of a given size. BIG proposals face a tradeoff between basic income (which is expected to be more popular because it is given to everybody) and negative income tax (which is cheaper because it is targeted only at the poor and costs only the amount given to net recipients).


Here’s how STC solves that problem: Simply transforming the standard deduction into a nonrefundable tax credit costs nothing. Although the STC is a universal basic income, the only additional cost of the STC is the cost of making it refundable. Because the STC universalizes something that is already available to everyone except the very poor, it creates a universal basic income at no more than the cost of providing it to the most needy. The STC creates a basic income (in the sense that everybody who wants it gets it) at the cost of a negative income tax (in the sense that only cost is providing it to the very poor). This proposal contains an additional cost because we also propose increasing the value of the standard deduction rather than simply transforming the standard deduction into an STC of the same size.

Fourth, a small STC in the short-term fits into a long-term strategy for a full basic income. It is the next step in a process that builds on the Earned Income Tax Credit, the Refundable Child Tax Credit, Food Stamps, and Social Security. Although $6,000 for a family of four is far short of the official poverty level of $18,000 and the more realistic figure of $28,000, it establishes the principle of a BIG in the form of a universal refundable tax credit. If it is successful and popular, it can be increased in subsequent years in obvious ways that lead to a full basic income. A larger STC can be financed by eliminating itemized deductions and/or simplifying taxes toward a flat rate of 35% (the current highest marginal tax rate). Increases can also be financed by new revenue sources (such as resource, wealth, or inheritance taxes). Once the STC becomes large enough, recipients can be allowed to take it in quarterly, monthly, or weekly installments. At that point, welfare programs such as TANF, EITC, Food Stamps, and others can be eliminated to finance an even larger STC. And so, there is a natural strategy to progress from the establishment of a small STC to one that is large enough to eliminate poverty.


Fifth, each change toward a larger STC is accompanied by a more simplified tax system, and the STC has the potential to reduce the bureaucracy of both the IRS and the welfare system. These features could reduce the resistance that conservatives are likely to mount against a proposal that is advantageous to the poor. An America with a BIG is not a policy in opposition to the idea that people could and should work hard to get ahead and enjoy the fruits of their labor. It is a policy that recognizes that opportunity requires security. Every adult needs a safety net if to be in position to take risks to get ahead. Every child deserves a secure childhood free from poverty, and every child needs a secure childhood if they are ever going to be in a position where they can realistically be able to take advantage of the opportunities that will become available to them as adults.
Appendix: How the STC will affect the tax returns of married couples with two dependent children
The following tables show the lines of IRS Form 1040 that would be effected by this proposal. It both simplifies the system and (as the bottom line reveals) creates a substantial tax cut especially for those with the least income.
	Appendix Table 1: The Current System

	Line on 1040
	
	A
	B
	C
	D
	E
	F
	G

	6D
	Number of exemptions 
	4
	4
	4
	4
	4
	4
	4

	35
	Adjusted Gross Income
	0
	7,800
	14,000
	21,700
	35,100
	56,800
	78,500

	37
	Standard deduction
	9,500
	9,500
	9,500
	9,500
	9,500
	9,500
	9,500

	38
	Subtract 37 from 35
	0
	0
	4,500
	12,200
	25,600
	47,300
	69,000

	39
	Exemptions
	12,200
	12,200
	12,200
	12,200
	12,200
	12,200
	12,200

	40
	Taxable income
	0
	0
	0
	0
	13,400
	35,100
	56,800

	43
	Tax
	0
	0
	0
	0
	1,340
	4,565
	7,821

	49
	Child Tax Credit 
	0
	0
	0
	0
	1,340
	2,000
	2,000

	60
	Total tax
	0
	0
	0
	0
	0
	2,565
	5,821

	63
	Earned Income Tax Credit
	0
	3,120
	4,204
	2,736
	0
	0
	0

	65
	Additional Child Tax Credit
	0
	0
	350
	1,120
	660
	0
	0

	68
	Add 63 and 65
	0
	3,120
	4,554
	3,856
	660
	0
	0

	69
	Refund due
	0
	3,120
	4,554
	3,856
	660
	-
	-

	72
	Amount owed
	-
	-
	-
	-
	-
	2,565
	5,821

	

	Appendix Table 2: Proposed New System

	Line on 1040
	
	A
	B
	C
	D
	E
	F
	G

	6D
	Number of exemptions 
	4
	4
	4
	4
	4
	4
	4

	40
	Taxable income
	0
	7,800
	14,000
	21,700
	35100
	56,800
	78,500

	43
	Gross tax
	0
	780
	1,400
	2,555
	4565
	7,821
	13,245

	49
	Child Tax Credit
	0
	780
	1,400
	2,000
	2000
	2,000
	2,000

	60
	43 minus 49
	0
	0
	0
	555
	2565
	5,821
	11,245

	63
	Earned Income Tax Credit
	0
	3,120
	4,204
	2,736
	0
	0
	0

	65
	Additional Child Tax Credit
	0
	0
	350
	0
	0
	0
	0

	67
	Standard Tax Credit
	6,000
	6,000
	6,000
	6,000
	6000
	6,000
	6,000

	68
	Add 63, 65, and 67
	6,000
	9,120
	10,554
	8,736
	6000
	6,000
	6,000

	69
	Refund due
	6,000
	9,120
	10,554
	8,181
	3435
	179
	-

	72
	Amount Owed (net tax)
	-
	-
	-
	-
	-
	-
	5,245

	
	Tax cut
	6,000
	6,000
	6,000
	4,325
	2775
	2,744
	576


� Officially called the additional Child Tax Credit.


� An exactly equivalent STC is more complicated because the U.S. tax system has a complicated set of tax brackets, so that there is not a uniform tax rate on all income.


� These are explanatory examples only.  For the sake of simplicity and clarity, we have purposely omitted the current Earned Income Tax Credits and Child Tax Credits from the 'current system' in Tables 2 and 3.  For the exact figures on how the proposed STC plan compares to the current tax system, please see the Appendix at the end of this paper.


� Hereafter, “she” represents “he or she.”





